Chapter 11   Financial Statement Analysis

                             Study Guide

	
	
	

	
	
	

	CHAPTER

11
	
	Financial Statement Analysis

	
	
	

	
	
	


CHAPTER OUTLINE: 
I. Interpretation of Financial Condition and Results of Operations

A. Liquidity Measures

1. Review of working capital, current ratio and acid-test ratio

B. Activity Measures

1. Turnover

a. Significance and general model

2. Turnover calculations illustrated

a. Accounts receivable

b. Inventory

c. Plant and equipment

d. Days' sales in accounts receivable

e. Days' sales in inventory

C. Profitability Measures

1. Review of return on investment and return on equity

2. Price/earnings ratio (earnings multiple)

a. Significance

b. Illustration

3. Dividend yield

4. Dividend payout ratio

a. Dividend policy

5. Preferred dividend coverage ratio

D. Financial Leverage Ratios

1. Review and illustration of financial leverage

2. Debt ratio

3. Debt/equity ratio

4. Times interest earned

E. Book Value Per Share of Common Stock

F. Common Size Financial Statements

G. Other Operating Statistics

II. Summary of Financial Statement Analysis Ratios

TRUE/FALSE:

____  1. By using the FIFO inventory cost flow assumption (rather than LIFO), a firm can usually



increase its working capital and current ratio.

____  2. Because inventories are reported at cost rather than selling prices, many analysts substitute



the Cost of Goods Sold amount for the sales amount in the inventory turnover calculation.

____  3. In order to be accurate and meaningful, most reported financial ratios are carried out to 



three decimal places.

____  4. The denominator of the accounts receivable turnover ratio (average balance in accounts 



receivable for the year) is computed using the weighted average daily balance.

____  5. The average days' sales in accounts receivable ratio represents the average age of the 



accounts receivable.

____  6. The price/earnings (P/E) ratio is used to evaluate the liquidity of a firm as compared to



its competitors.

____  7. Newt buys Stock A (with EPS of $5) for $40 per share, while Nellie buys Stock B (with 



EPS of $3) for $30 per share.  Based on the P/E ratio, Newt bought a less expensive stock.

____  8. The dividend payout ratio is computed by dividing the annual dividend per share by the 



market price per share.

____  9. The dividend yield is often lower for common stock than it is for preferred because higher 



future dividend rates are possible for common stockholders but not for preferred.

____10. The dividend payout ratio expresses the proportion of current earnings paid out to 



stockholders.

____11. "Extra" dividends are usually stock dividends paid out in an especially profitable year.

____12. The preferred dividend coverage ratio and the times interest earned ratio both express 



"margin of safety" relationships with respect to the firm's ability to cover fixed expenses.

____13. Financial leverage works to a firm's advantage if the firm can earn a higher ROI on 



borrowed funds than it must pay in interest costs on those funds.

____14. The degree of financial leverage does not generally affect ROI.

____15. If a firm earns only 11% on funds that it has borrowed at an interest rate of 12%, then its 
              ROE will decrease. 

____16. If the after-tax cost of debt for a firm is 8.4% and the tax rate is 30%, then the before-tax 
              cost of debt must be 12%.

____17. Since a debt ratio of 50% is the same as a debt/equity ratio of 100%, the debt ratio will 
              always be half of the debt/equity ratio.

____18. The numerator in the times interest earned ratio could be computed as: net income + 



interest expense + taxes expense.

____19. Leveraged buyouts are often the result of "going public."

____20. Book value per share is computed as: total common stockholders' equity divided by the



number of shares of common stock outstanding.

____21. In preparing a common size balance sheet, each asset, or liability, or stockholders' equity 
              item is expressed as a percentage of total assets, or total liabilities, or total stockholders' 
              equity, respectively.

SOLUTIONS:
	True/False

	
	
	
	
	
	
	
	
	

	1.
	
	T
	11.
	
	F
	21.
	
	F

	  2.
	
	T
	12.
	
	T
	
	
	

	3.
	
	F
	13.
	
	T
	
	
	

	4.
	
	F
	14.
	
	T
	
	
	

	5.
	
	T
	15.
	
	T
	
	
	

	6.
	
	F
	16.
	
	T
	
	
	

	7.
	
	T
	17.
	
	F
	
	
	

	8.
	
	F
	18.
	
	T
	
	
	

	9.
	
	T
	19.
	
	F
	
	
	

	10.
	
	T
	20.
	
	T
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